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| _If cos.28° + sin 28° k3 ‘then cos. 17° is equal to .

" ': ,T--_l)\/_' o 2)___ B 3)+_ .-. ; 4)_£ )

K 2 A'_;_Ifn > 23 £l then J 24 4f2 + 2 cos 49 equal to.-

+421) =2 cos’ 0 = 2)-2sin@ - a) 2 cos 9 - 4) 2 sin .9. :

e Wi cos 1%+ cos 2° +c0s 3%+ ...+ cos 179°

< )0 - RS F I 3)-1 L ‘

:'.'45 : . Whlch of the followmg is not true?

Comysing=-%c mcwe——l‘._ mnma 25 4)sccf=1

TN "+ cos 20 cos 2¢+ sin(6.— ¢) — sin? (8 + ¢) is equal to -

L M)sin2(0+@) 2)cos2(0+¢). - 3)sin2(6- di) | '4') cos 200~ ¢)
T IEf(0)= |sm Bl + 1cos 8|, 6 € R, then j(Q) is in the 1nterva1 L reneS;
oY T0, 20 SD[LV2) - T 3L 2] L [05'1.] .

7 . The tnangle of mammum area with constant perimeter 12 m r i e
U ““1)isan. equnlateral tnangle with side 4m S 2)isan 1sosceles tnangle w1th sides 2m Sm, 5m- e

R e, 3) is a triangle with sides 3m, 4m, 5ni 4) Does not ex1st
8 - _cos&x+6cos4x+15c052x+10 '

1séqualto L : .
C g g Bl cosSx+Scos3x+1Ucosx ) _ BESR . S{OTN | L
1) COS?—’C i BN OOSE "5 paped _3) 005;3964 S S 4)2cesx
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e e ln a MBC lf() sm— sm =Sinz > 0 (11) smA sin B sin C > 0 then
" “1)Both (i) and (i1) are U'lle \Nd : 52 only (i) is true
o 3)only (i) istrue - - © " 4)neither (i) not (ii) is true - |
10, A wheel is spmmng at2 radlans/second How many. seconds will it take to make 10 completc
o ,‘ rotations? - . . | oD, B
1) 10m seconds. - 2)20m seconds-. -3)j Sn seconds‘ A 157r seconds '

1 .- II Answer allthe questlons - , . , o S (3x2"_= 6.)“
' 11 Fmd the prmclpal solutlon and general solutlons of the followmg sinf = —‘-% QIR -\

iy l , Fmd the prmc1pal solutlon and general solut1ons of the followmg cotd =3

13 Fmd the general solution of sec8 = —'2',_“3'-"’-‘ S s . SO, PIEENS o, LIPS
Nt i | 5} Answer all the questions: . AR A RN el Ut el (3x3=9)
:-,314 Solve 3cosZB = sin%6 G e e TN 0t L DT R

T 15 Fmd the general solutlon ofsm 9 oo e

16 Solve the followmg equanons for Wthh solutlons lles m the mterval 0° < 9 < 360° sm X = sm X
= l'V Answer all the questions: - f ST e A S }' ( 3 X 5 15) |
- 1 Solve \f_ tan29 + (\/— 1) tanB 1 = 0 L T ) * : oL _ o

: ’3 Ifx + y + ¥ = xyz, then prove that + =z + _zz ~r e xz 1_y2 1_22

eh] 19 IfA + B + C = 180° prove that tan tan + tan-—tan + tan tan— = 1
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